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KEY 

 

Task 1: Choose the best reply to each question. 

1. B 2. B 3. C 4. D 5. B 6. A 7. B 8. C 9. C 10. D 

/10 

Task 2: Complete the following sentences with the opposite of one of the words from the 

box. 

1. rude 2. irresponsible 3. impolite 4. illegal 5. dishonest 

6. useless 7. overweight 8. impatient 9. backwards 10. unlucky 

/10 

Task 3: Read the following text and complete the tasks. 

Task 3a: After reading the text above, decide whether the following statements are true or 

false. 

1. F 2. T 3. T 4. T 5. F 6. T 7. F 

/7 

Task 3b: Fill in the gaps 1-3 word(s) taken directly from the text to make the sentences 

correct. 

1. gender pay gap 2. competing responsibilities 3. work part time 

4. Engineering and computing 5. promote x 

/5 

Task 4: Read the text below and think of the word which best fits each gap. Use only one 

word in each gap.  

1. it 2. would 

/could 

/might 

3. what 4. any/every 5. as 6. up / 

down 

7. of 

8. all / 

everything 

9. taking 10. for 

/ in 

11. because 12. if 13. than x 

/13 



Task 5: You are going to read an article about a famous diamond bought by a jewellery 

company. Six sentences have been removed from the article. Choose from the sentences 

(A-G) the one which fits each gap. 

1. E 2. B 3. D 4. C 5. G 6. F 

/12 

Task 6: Use the word given in CAPITALS at the end of each line to form a word that fits 

in the space in the same line. 

(1) unlimited (2) impression (3) truth (4) variety (5) incomplete 

(6) appeal (7) popularity (8) efficiency (9) continually x 

/9 

Task 7 Read the text below and decide which answer best fits each gap. 

(1) A (2) D (3) C (4) A (5) C (6) B (7) A (8) B (9) C 

/9 

Task 8 You are going to read four reviews of autobiographies in which the writers described 

their lives as teenagers. For questions (1-10), choose from the writers (A-D). The writers 

may be chosen more than once. 

1. B 2. B 3. C 4. D 5. D 6. A 7. C 8. A 9. C 10. D 

/10 

Task 9: Complete the second sentence so that it means the same as the first one, using the 

word given. Use no more than five words including the given word in CAPITALS. Write 

only the missing words as answers. 

1. was going to give 

2. better leave before it 

3. turned out to be better 

4. lack of money means 

5. in spite of not having 

6. was brought up by 

7. like/love to get my hair 

/7 

Task 10: Match the jokes with the correct answers. 

 

1. D 2. H 3. A 4. G 5. B 6. C 7. F 8. E 

/8 


